Question Paper Name:
Subject Name :
Creation Date :
Duration :

Total Marks :

Display Marks:

Group Number :

Group Id :

Group Maximum Duration :

Group Minimum Duration:

Show Attended Group?:
Edit Attended Group?:
Break time :

Group Marks :

Is this Group for Examiner?:

CBSE

SET R P2 English and Hindi SS Comb303
P2 English and Hindi SS
2022-01-1213:59:14

150

150

Yes

P2 English and Hindi SS

1
82472468
0

150

No

No

150

No

Child Development and Pedagogy

Section Id :
Section Number:
Section type:

Mandatory or Optional :

824724292
1
Online

Mandatory



Number of Questions : 30

Number of Questions to be attempted : 30

Section Marks : 30

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 824724560
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 82472410319 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following examples illustrates-proximodistal principle of development?
Options:

1. Visual abilities are developed before learning to walk

2. Effective use of arms proceeds the ability to use hands

3. Grasping cannot be mastered before learning to integrate movement of individual fingers

4, Patterns of growth for body size, nervous system are different.

Question Number : 1 Question Id : 82472410319 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 82472410320 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Developmental changes -

Options :

1. occur in an orderly and sequential manner.

2. occur at very fast pace in infancy and then there is no growth till adolescence.
3. always occur in a linear manner rather than a spiral manner.

4. occur in a forward manner till adolescence and then move backwards.

Question Number : 2 Question Id : 82472410320 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 82472410321 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

The interplay of environment and hereditary factors is responsible for-
Options:

1. only physical development

2. only cognitive development

3. physical and cognitive development

4. physical, social and cognitive development

Question Number : 3 Question Id : 82472410321 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 82472410322 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements about socialization of children is correct?
Options :

1. Media is an agency of primary socialization.

2. Media is an agency of secondary socialization.



3. Media is an important part of the child’s microsystem.

4. Media is not an agency of socialization.

Question Number : 4 Question Id : 82472410322 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 82472410323 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In Piaget's theory, the tendency to focus attention on only characteristic of an object at a time is

referred to as -
Options :

1. centration.

2. reversibility.

3. egocentricism.

4. animism.

Question Number : 5 Question Id : 82472410323 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 82472410324 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Choose the correctly matched pair of Piagetian cognitive stage and it's defining characteristic.
Options :

1. Pre-operational Stage - Animism

2. Sensori-motor - Symbolic Thought

3. Concrete operational stage - Deferred Imitation

4. Formal operational stage - Centration

Question Number : 6 Question Id : 82472410324 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 82472410325 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Physical tools such as and aid and influence our cognitive development as

per Lev Vygotsky.
Options:

1. schemas; maps

2. schemas; language
3. maps; calculator

4. schemas; calculator

Question Number : 7 Question Id : 82472410325 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 82472410326 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In Lev Vygotsky's view, private speech -
Options :

1. serves an important social function.

2. hinders cognitive development of children.
3. illustrative egocentric thinking of children.

4. does not have any cognitive function.

Question Number : 8 Question Id : 82472410326 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 82472410327 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following characterize a progressive classroom?
(i) Availability of a variety of materials

(ii)) Range of activities and tasks

(iii) Following method of direct instruction

(iv) Focus on memorization and recall

Choose the correct option.
Options:

1. (i) (ii)

2. (iii) (iv)

3. (i) (i) (iii) (iv)

4. (i) (ii) (iv)

Question Number : 9 Question Id : 82472410327 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 82472410328 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a correctly matched pair of Kohlberg's stages with their underlying
principles?

Options :

1. Universal ethical principles - avoidance of punishment

2. Good-boy - Good-girl orientation - ideal reciprocity

3. Law and Order Orientation - equal exchange of favours

4. Social Contract orientation - self-chosen ethical principles of conscience

Question Number : 10 Question Id : 82472410328 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 82472410329 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

As per contemporary theories of intelligence,

Intelligence is -

Options :

1. Mere ability to imitate other
2. A specific ability

3. A set of capabilities

4. A singular and generic concept

Question Number : 11 Question Id : 82472410329 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 82472410330 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Teachers should discuss depiction of men and women in non - conformist gender roles to -
Options:

1. challenge gender - role flexibility.

2. challenge gender stereotyping.

3. promote gender bias.

4. promote gender discrimination.

Question Number : 12 Question Id : 82472410330 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 82472410331 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): Teachers should encourage children to work individually and discourage co-

operation.
Reason (R): Collaboration is a highly ineffective strategy in a classroom with diverse learners.

Choose the correct option.



Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 13 Question Id : 82472410331 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 82472410332 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements about assessment is NOT correct?

Options :

1. Assessment for learning takes place before, during and after the teaching - learning process.

2. Assessment for learning should focus upon formative assessment.



3. The process of assessment should be dynamic.

4. Assessment should focus on use of standardized assessment tools.

Question Number : 14 Question Id : 82472410332 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 82472410333 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of a question to promote conceptual understanding and
critical thinking?

Options:

1. Which is the largest state in India?

2. What is the total area of the state of Kerala?

3. What measures should be taken to make society inclusive?

4. What is photosynthesis?

Question Number : 15 Question Id : 82472410333 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 82472410334 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

To promote inclusion, it is important to have:
(i) Flexible curriculum

(i) Accessible building

(iii) Segregation of students based on ability
(iv) Competition centred pedagogy

Choose the correct option.
Options :

1. (i), (ii)

2. (i), (iii)

3. (i) (iv)



4. (iii) (iv)

Question Number : 16 Question Id : 82472410334 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 82472410335 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following characterizes “repetitive and ritualistic behaviour”?
Options :

1. Autism

2. Dyscalculia

3. Dyslexia

4. Visual Impairment



Question Number : 17 Question Id : 82472410335 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 18 Question Id : 82472410336 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following will help inclusion of students with Attention Deficit Hyperactivity Disorder?
Options:

1. Break task into small, manageable chunks

2. Give long and repetitive assignments

3. Increase distraction in the classroom

4. Restrict multiple ways of engagement in class

Question Number : 18 Question Id : 82472410336 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 82472410337 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

For the successful inclusion of students from economically weaker sections, a teacher should:
Options :

1. Correlate learning ability with the social class of children.

2. Place them in a separate section with low expectation.

3. Respect and consider their socio-economic background.

4. Use examples related to dominant cultures only.

Question Number : 19 Question Id : 82472410337 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 82472410338 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is a correctly matched pair of appropriate accommodation strategy with

respective to inclusion of students with the specific learning preferences?
Options :

1. Kinesthetic: Read material aloud to them

2. Auditory: Highlight main points in books/notes

3. Tactile: Ask for oral summaries of material

4. Visual: Use maps and flows charts to organize materials

Question Number : 20 Question Id : 82472410338 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 82472410339 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): The act of learning involves a process of establishing connections among facts

observed and experienced by children.

Reason (R): Children learn in a linear way and not in spiral manner.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 21 Question Id : 82472410339 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 82472410340 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following are proposed in National Education Policy 2020?
(i) Learning how to learn

(i) Increasing course content

(iii) 360-degree holistic progress report card

(iv) Standardized curriculum, pedagogy and assessment

Choose the correct option.
Options:

1. (i) (iv)

2. (i) (iii)

3. (ii) (iii) (iv)

4. (i) (ii) (iv)

Question Number : 22 Question Id : 82472410340 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 82472410341 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following does NOT facilitate childrens' thinking?
Options :

1. Giving activities based on transfer of learning

2. Aiming towards memorization rather than understanding

3. Providing opportunities for self-regulation and being reflective

4. Relating new information to prior knowledge

Question Number : 23 Question Id : 82472410341 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 82472410342 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The establishment of a and atmosphere is an essential part of learning at

school.

Options :

1. collaborative, co-operative
2. competitive, boring

3. constructive, mechanical

4. threatening, challenging

Question Number : 24 Question Id : 82472410342 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

@R T o S et § S U e e |
Options :

. Lk
5 ANTHGHh, 8T

il
3 TEATCHR, F1

:1"‘ e
4, R G



Question Number : 25 Question Id : 82472410343 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The sequence of presentation of concepts should be from:
Options :

1. Application-based to understanding-based

2. Higher-order to lower-order

3. Abstract to concrete

4. Simple to complex

Question Number : 25 Question Id : 82472410343 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 82472410344 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following facilitates problem-solving skills among the students?

Options :



1. Analogical thinking
2. Functional fixedness
3. Response set

4, Stimulus-response association

Question Number : 26 Question Id : 82472410344 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

i = = | s = A,
=7 O § Shig-a7 faerfea & s 99r e W%HI%II Al %”
Options :

|, TEETE

[
5. TR e

[
HATRAT =4
2 2

3.

SET TR 9FY
4, ¢ 3

Question Number : 27 Question Id : 82472410345 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a constructive way of responding to students’ errors?
Options :

1. Punishing the student to eliminate erroneous behaviour.

2. Giving cues & hints to help students identify their own error.

3. Reducing marks for making errors without any feedback.

4, Ignoring students’ error totally.



Question Number : 27 Question Id : 82472410345 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
IERBIPRIREA ﬁﬁiﬁ'ﬂ” T O ITATeRaT 2 3T ShIH-9T T 15T ST 27

Options:

1 (e A F SFIER F e % form que 3

, T S TN 2o Tt 1 Ao qeat g @ie | 782

; o1 %73 Wagre fou Freat i W 7% 7 &)

. Pt it ot oty e & s v e

Question Number : 28 Question Id : 82472410346 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Sometimes stereotypes related to one's social identity cause beliefs about inequities among

students. Teachers can overcome the impact of these negative stereotypes by:
Options:

1. Telling the student that learning is an uncontrollable process.

2. Giving examples that indicates that stereotypes are true.

3. Emphasizing that learning significantly depends on efforts.

4. Using frequent rewards and punishments among students.

Question Number : 28 Question Id : 82472410346 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 82472410347 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A student is studying to avoid last rank in the exams. This is an examples of:
Options :

1. Approach-oriented mastery goals

2. Avoidance-oriented mastery goals

3. Approach-oriented performance goals

4. Avoidance-oriented performance goals

Question Number : 29 Question Id : 82472410347 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 82472410348 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): School and life at community should not be linked in any way for effective teaching-

learning process.
Reason (R): Linking school and community delimits students’ opportunities for social participation.

Choose the correct option.

Options:

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 30 Question Id : 82472410348 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Clear Response: ves
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Sub-Section Id : 824724561
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 82472410349 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The Tamil word to describe heads of three ruling families of Cholas, Cheras and Pandyas is.

Options :



1. Dakshinapatha
2. Maha-mandaleshwara
3. Rajarajadeva

4. Muvendar

Question Number : 31 Question Id : 82472410349 Question Type

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

: MCQ Option Shuffling : Yes
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Question Number : 32 Question Id : 82472410350 Question Type

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The Delhi Sultanate policy of ‘internal frontier’ meant
Options :

1. keeping a check on internal rebellions

2. conflict over hereditary rights to appoint successor
3. cutting down forests to consolidate the hinterlands

4. maintaining a circle of justice for effective control

: MCQ Option Shuffling : Yes



Question Number : 32 Question Id : 82472410350 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Options:
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Question Number : 33 Question Id : 82472410351 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Read the statements and choose the correct option:
The farman issued by Aurangzeb granted
A. the East India company the right to trade duty free

B. private traders the right to trade duty free
Options:

1.Only A

2.0nly B

3. Both Aand B

4. Neither A nor B



Question Number : 33 Question Id : 82472410351 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 34 Question Id : 82472410352 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In one of the first settled sites Burzahom, traces of cooking hearths have been found
Options :

1. inside the huts

2. outside the huts

3. both inside and outside the huts

4. far away from the huts

Question Number : 34 Question Id : 82472410352 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 35 Question Id : 82472410353 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

People who made copies of the manuscripts in the medieval courts are known as
Options :

1. calligraphers

2. copiers

3. scribes

4. muralists

Question Number : 35 Question Id : 82472410353 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 36 Question Id : 82472410354 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Read the statements ( A) and (R ) and choose the correct option.

Assertion (A): Hampi was the centre of commercial and cultural activities.

Reason (R) : Muslim merchants, Chettis and European traders thronged the markets of Hampi
Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true and (R) is not the correct explanation of (A).

3. (A) true, but (R) is false.

4. (A) is false, but (R) is true.

Question Number : 36 Question Id : 82472410354 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 37 Question Id : 82472410355 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Read the statements ( A) and (R ) and choose the correct option.

Assertion (A): East India company introduced Permanent Settlement and Mahalwari Settlement in

their territories.

Reasoning (A) : these settlements were required to improve the agricultural practices, particularly

irrigation system.

Options :

1. Both ( A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true and (R) is not the correct explanation of (A).
3. (A) true, but (R) is false.

4. Both (A) and (R) are false.

Question Number : 37 Question Id : 82472410355 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 38 Question Id : 82472410356 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statement(s) is /are true about Ahoms during the medieval period?
A. They are migrants from present - day Myanmar

B. Ahom state depended on voluntary service for their army

C. Village communities played a crucial role in distributing land to peasants.

Choose the correct option.
Options :

1.Only A

2.Band C

3.Aand B

4.Aand C

Question Number : 38 Question Id : 82472410356 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Freaferfiam et 5 1 (| / 3) e Feagi= et 3 31 o781 3 R 5 e (2/%)?
A. T FISTEY/ AT AT | S 0 AT 3
B. 12T T T T 3 o707 S0 BT U e o)
C. TTHTOT TR 3 ! ] S [0 5 O S
TET T o =5 it —

Options :

1 HET A
2. B3 C
3 ARB

4 ARC

Question Number : 39 Question Id : 82472410357 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements and choose the correct option.
(a) Pandita Ramabai founded a widows' home at Poona to provide shelter to widows.
(b) Pandita Ramabai was a great scholar of Sanskrit.

(c) Pandita Ramabai wrote a book about the miserable lives of lower-caste women.
Options :

1.(a), (b) and (c) are correct

2.(a) and (b) are correct

3. (a) and (c) are correct

4. (b) and (c) are correct



Question Number : 39 Question Id : 82472410357 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id : 82472410358 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which among the following tried to show through his/her writings that the practice of widow

burning had no sanction in ancient texts?
Options:

1. Ishwarchandra Vidyasagar

2. Pundita Rama Bai

3. Raja Rammohan Roy

4. Dayananda Saraswati

Question Number : 40 Question Id : 82472410358 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 41 Question Id : 82472410359 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which among the following practices was used by Nineteenth century reformers to challenge a

harmful practice that existed in the society?

Options:

1. Staging a dharna against such practices.

2. Name calling the people who were following such practices.

3. Point out a verse or sentence in the ancient sacred texts that supported their point of view.

4. Eulogizing the practices of the western societies.

Question Number : 41 Question Id : 82472410359 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 82472410360 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Dadabhai Naoroji was a great publicist. Which of the following is a correct explanation of the term
‘publicist’?

Options :

1. Someone who writes in daily newspapers.

2. Someone who publicises ideas through various means.

3. Someone who is very popular in his circle.

4. Someone who holds a public post.

Question Number : 42 Question Id : 82472410360 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

| TE S 2w § o fergar =

, == et famm = fafi= o & s #ar =



= . ™, . ™,
3. 9& S AT SAIhHE &l

4. TE N TRt AT U8 UK SATH 7

Question Number : 43 Question Id : 82472410361 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Match the two columns which show different events and organizations, and the year of formation.

Choose the correct option.

A. Rowlatt Satyagraha (i) 1928
B.  Hindustan Socialist Republic Organization (i) 1925
C. Communist Party of India (i) 1929
C. Announcement of Purna Swaraj (iv) 1919
Options:

1. A-(ii), B - (iv), C- (i) and D - (iii)
2. A-(i), B -(ii), C-(iv) and D - (iii)
3. A-(iv), B - (i), C- (ii) and D - (iii)

4. A - (i), B-(iv), C-(ii) and D - (iii)

Question Number : 43 Question Id : 82472410361 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 82472410362 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Who said the following statement in the context of formation of states after India’s Independence?

“Everything which helps the growth of nationalism has to go forward and everything which throws
obstacles in its way has to be rejected.....We have applied this test to linguistic provinces also, and

by this test, in our opinion(they) cannot be supported.”
Options :

1. Jawaharlal Nehru

2. B.R. Ambedkar

3. M. K. Gandhi



4. Sardar Vallabhbhai Patel

Question Number : 44 Question Id : 82472410362 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 45 Question Id : 82472410363 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider these sentences in the context of planet earth.
A. The axis of earth makes an angle of 66 %2° with its orbital plane.

B. Revolution is the movement of the earth on its axis.

Choose the correct option.

Options :



1. Ais true and B is false
2. Ais false and B is true
3. Both A and B are true

4. Both A and B are false

Question Number : 45 Question Id : 82472410363 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 82472410364 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

How many degrees does the earth rotate in an hour?
Options :

1.90°

2.60°



3.30°

4.15°

Question Number : 46 Question Id : 82472410364 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 82472410365 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements A, B and C about longitudes and latitudes and choose the

correct option.
(A) Longitudes are parallel circles.
(B) Latitudes are parallel circles.

(C) Longitudes are semi-circles.
Options :
1. Both (A) and (B) are true

2. Both (B) and (C) are true



3. Both (A) and (C) are true

4. Only (B) is true

Question Number : 47 Question Id : 82472410365 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 82472410366 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements (A) and (B) and choose the correct option.

(A) By measuring the angle of the pole star from your place you can know the latitude of your

place.

(B) To fix the position of a place on earth one needs to know the latitude and longitude of that

place.



Options :

1. Both (A) and (B) are true and (B) is the correct explanation of (A)

2. Both (A) and (B) are true and (B) is not the correct explanation of (A)
3. (A) true, but (B) is false

4. (A) is false, but (B) is true

Question Number : 48 Question Id : 82472410366 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 82472410367 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which among the following is not a source of fresh water?
Options :

1. Ocean

2. Rivers



3. Ponds

4. Glaciers

Question Number : 49 Question Id : 82472410367 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 82472410368 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Read the following statements A, B and C and choose the statements that are acts of endogenic

Forces.

A. There was an earthquake in Afghanistan at 6.00 am today.’
B. ‘Mount Fuji has been throwing up lava.’

C. The glacial moraines have left a trail of deposits at Zermatt.’

Choose the correct option.

Options :



1.0nlyAand B
2.0nlyBand C
3.0nlyAand C
4.A,BandC

Question Number : 50 Question Id : 82472410368 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
FeATeATiEs ot A, B 3T C 1 TT60 91 37 /B9 31 =79 I 1 Siew4e ol % 74 & —
A, ¥ &% 6:00 & ST 5 4T 477 '
B. <V WS 1A e 1 T ¢
C. “T2e TmTe (17) 7 992 W 94T o P g 2
W o 1 T 1T
Options :
1. FTT A B

>, FIAB IR C
3, FIA A SR C

4 A BERC

Question Number : 51 Question Id : 82472410369 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements (A), (B) and (C) and choose the correct option.
(A) Landforms are found over the continents, not on the ocean floors.

(B) Natural environment refers to only biotic conditions existing on the earth.



(C) Human environment refers to the activities, creations and interactions among human beings.
Options :

1. Only Ais true

2.0nly Biis true

3.0nly Cis true

4. Only (B) and (C) are true

Question Number : 51 Question Id : 82472410369 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 82472410370 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A) : High tides help in navigation



Reason (R) : High tides raise the water level close to the shore and help ships to arrive at the

harbour more easily.

Choose the correct option from the following

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true and (R) is not the correct explanation of (A)
3. (A) true, but (R) is false

4. Both (A) and (R) are false

Question Number : 52 Question Id : 82472410370 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 82472410371 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

As we go up the layers of the atmosphere



Options :

1. the pressure increases but the temperature decreases.
2. the pressure decreases but the temperature increases.
3. the pressure and the temperature remain the same.

4. the pressure decreases but the change in temperature varies.

Question Number : 53 Question Id : 82472410371 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 82472410372 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Read the following statements for physical features of India and choose the correct options:
A. Many popular hill stations are situated in middle Himalaya.
B. Northern plains are highly populated areas because river plains have fertile land for cultivation.

C. Western ghats are rich in minerals and are highly populated.



Options :

1. Only A is correct

2.0nly B is correct

3.0Only A and B are correct

4. Only B and C are correct

Question Number : 54 Question Id : 82472410372 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 82472410373 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Uranium found in Ladakh is an example of which kind of resource?
Options :

1. Ubiquitous

2. Potential



3. Actual

4. Renewable

Question Number : 55 Question Id : 82472410373 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 82472410374 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements and choose the correct option.
(A) An economically developed country could be a densely populated country.
(B) More women in population’s base necessarily indicates their better status in society.

(C) Population pyramid is a tool to study the population composition of a country.
Options :

1. Both (A) and (B) are correct.

2. Both (B) and (C) are correct.

3. Both (A) and (C) are correct.



4. Only (C) is correct.

Question Number : 56 Question Id : 82472410374 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 82472410375 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements (A) and (B) and choose the correct option.

(A) Agricultural activity is concentrated in those regions of the world where suitable factors for the

growing of crops exist.

(B) Wool, dairy and poultry products are considered output of agricultural system
Options :

1. Only (A) is true



2. Only (B) is true
3. Both (A) and (B) are true.

4. Neither (A) nor (B) is true.

Question Number : 57 Question Id : 82472410375 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 82472410376 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following languages belongs to the Tibeto-Burman family?
Options :

1. Assamese

2. Persian

3. Sindhi

4. Khasi



Question Number : 58 Question Id : 82472410376 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 59 Question Id : 82472410377 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Social advertising refers to

Options :

1. making advertisement at social gatherings

2. bringing people from different sections of society in creating advertisements
3. creating advertisement with a social message

4. making advertisement on social functions

Question Number : 59 Question Id : 82472410377 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 82472410378 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements A and B select the answer from the alternatives given below -
A - There are two or more levels of government

B - Each level has its own jurisdiction in matters of legislation, taxation and administration
Options:

1. Ais true and B is false

2. Both A and B are true

3. Both A and B are false

4. Ais false and B is true

Question Number : 60 Question Id : 82472410378 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 61 Question Id : 82472410379 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following taxes are collected by administrative organs of the local governments in

India?

A. Goods and Services Tax

B. Water tax

C. Property tax

D. Income tax

Choose the correct option.
Options:

1.A,Band C

2.B,Cand D

3.Aand B

4.Band C

Question Number : 61 Question Id : 82472410379 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 62 Question Id : 82472410380 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Read the statements (A) and ( R) and choose the correct option
(A) Goods are cheap in the weekly markets.

(R) There are more shops selling the same goods in the weekly market, hence there is more

competition.

Options :

1. Both ( A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true and (R) is not the correct explanation of (A)

3. (A) true, but (R) is false



4. Both (A) and (R) are false

Question Number : 62 Question Id : 82472410380 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 63 Question Id : 82472410381 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Read the statements (A) and ( R) and choose the correct option
(A) Goods sold in a permanent shop are usually costlier than goods sold in the weekly markets.

(R) Permanent shops incur a lot of expenditure in the form of rent, electricity bill, workers’ wage

etc.
Options:
1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true and (R) is not the correct explanation of (A)



3. (A) true, but (R) is false

4. Both (A) and (R) are false

Question Number : 63 Question Id : 82472410381 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 64 Question Id : 82472410382 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Read the statements (A) and ( R) and choose the correct option
(A) Democratic governments are also often called representative democracies.

(R) People do not participate in the government directly, but, instead, choose their representatives

through election process.



Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true and (R) is not the correct explanation of (A)
3. (A) true, but (R) is false

4. Both (A) and (R) are false

Question Number : 64 Question Id : 82472410382 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 65 Question Id : 82472410383 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Lata sells tea at 5.00am. She then goes to fetch water from a faraway well. After reaching home
she cooks food, washes clothes, cleans the house, sweeps and then she goes off to purchase items

for her tea shop.



All this together can be referred to as :
Options:

1. Care giving

2. Double-burden

3. House work

4. Paid work

Question Number : 65 Question Id : 82472410383 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 66 Question Id : 82472410384 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which among the following was not a part of the original constitution of India adopted in 1950?
Options :

1. Fundamental Rights



2. Directive Principles of State Policy
3. Fundamental Duties

4. Emergency Provisions

Question Number : 66 Question Id : 82472410384 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 67 Question Id : 82472410385 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following is NOT an example of exercise of Fundamental Rights?
Options:

1. Workers from Bihar go to Punjab to work on the farms.

2. Christian missionaries set up a chain of missionary schools.

3. Men and Women government employees get the same salary and allowances.

4. Paternal property is inherited by their children.

Question Number : 67 Question Id : 82472410385 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 68 Question Id : 82472410386 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Under Article 22 of the Indian Constitution, which one of the following are Fundamental Rights

guaranteed to a person arrested?

A. Right to be informed at the time of arrest of the offence for which the person is arrested

B. Right to be presented before a magistrate within 24 hours of arrest

C. Confessions made in police custody need to be recorded and used as evidence against the

accused

D. Boys below 15 years of age and women cannot be called to the police station only for

interrogation
Options :
1.A,Band C

2.B,Cand D



3.A,Band D

4. A,Cand D

Question Number : 68 Question Id : 82472410386 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 69 Question Id : 82472410387 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Amnesty International Organization volunteers campaign for :
Options :

1. Human rights all over the world

2. Human values worldwide



3. Human evolution studies

4. Human free education rights

Question Number : 69 Question Id : 82472410387 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 70 Question Id : 82472410388 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The term ghettoisation is most likely reflected in which of the following areas?

Options :

1. Area A, where residents of a community have moved in following fears for their lives.
2. Area B, where army personnel have set up a camp.

3. Area C, where residents have moved in as schools here are better.

4. Area D, where residents belong to elite and privileged class.

Question Number : 70 Question Id : 82472410388 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 82472410389 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following activities is useful to develop 'critical thinking' skills in history?
A. Examining events through facts and evidences

B. Developing viewpoints on topics through debate and discussion

C. Learning about events based on a particular historian's account

D. Seeing videos in the internet

Choose the correct option.
Options :

1.0nlyAandB
2.0nlyBand C
3.0nlyCand D



4.0nly Aand D

Question Number : 71 Question Id : 82472410389 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 72 Question Id : 82472410390 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Kothari Commission,

A. India should not be seen simply in terms of developmentalist approach.

B. The problem with this approach has been that it treated poverty, illiteracy and casteism as an

obstacle to nation's progress. It also ignored gender issues.

Choose the correct option.



Options :

1.0nly A is true

2.0nly Biis true

3. Both A and B are true

4. Neither A nor B is true

Question Number : 72 Question Id : 82472410390 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 73 Question Id : 82472410391 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher wants to engage her students on the theme 'portrayal of women in Indian media'.

Which of the following strategy/strategies is/are most suitable?

A. Discussion on advertisements from various newspapers



B. Interview with a local leader
C. Collage making and presentation

Choose the appropriate option.
Options :

1.0nly A

2.Both Aand B

3.BothAand C

4. AllA,Band C

Question Number : 73 Question Id : 82472410391 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 74 Question Id : 82472410392 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following resources would be useful to introduce elementary school students to the

issue of oppression through caste-based discrimination?

Options :

1. Ashokan Edicts

2. Allahabad University's policies on reservation for backward classes
3. Universal Declaration of Human Rights

4. Narrative on childhood experiences of Dr BR Ambedkar

Question Number : 74 Question Id : 82472410392 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 82472410393 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher wants to discuss struggles against inequality. Which of the following examples would be



suited for discussion?

A. Story of Rosa Parks

B. Song titled 'the right to know' [By Vinay Mahajan]
C. Tawa Matsya Sangh's protest

D. Any experience from a student's life

Choose the appropriate option.
Options :

1.0nly A,Band C
2.0nlyB,Cand D
3.0nlyA,Cand D

4.0nly A, B,CandD

Question Number : 75 Question Id : 82472410393 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
ek TSR TR e o T SR o feeg W78 3 G 5 o] 50T T 2] S0 o 92 &0 =T
er e v e e
A, TS TR 1 T
B. ST 1 25 1117 (4979 219 310 feiran)
(. 1 °o 6 A O T
D. fovemft o < & 7 e
T EEmEn EilE it

Options :

, FEAAA, BHRC

5 FaA B, C AT D



. FaTA.C IARXD

4.%E'A.B.CEﬁTD

Question Number : 76 Question Id : 82472410394 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following concepts are necessary to be covered before introducing the concept of

'circle of illumination"?
A. Orbital plane

B. Axis of the Earth

C. Rotation of the Earth

D. Spherical shape of the Earth
Options :
1.Band D
2.Aand C
3.Cand D

4.B,Cand D

Question Number : 76 Question Id : 82472410394 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 77 Question Id : 82472410395 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The Five E model is considered as one of the popular lesson plans used to develop lesson plans in
different subjects including social sciences. Which of the following teacher activities does not form

part of this model?
Options :

1. Evaluate

2. Elaborate

3. Explore

4. Entertain

Question Number : 77 Question Id : 82472410395 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 82472410396 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A geography teacher wants to teach about natural vegetation. Which of the following could she

plan for an appropriate classroom based session on the topic?
A. Bringing pictures of various types of trees
B. Asking students to bring few objects made up of softwood

C. Bringing charts comparing the characteristics of various forests and vegetation available in

them.
D. Discussing how climate affects the nature of vegetation.

Choose the appropriate option
Options :

1.0nly A,Band C



2.0nly A, Cand D
3.0nlyB,Cand D

4.0nlyA,B,Cand D

Question Number : 78 Question Id : 82472410396 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 82472410397 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A student in class says, "In ancient India, townships seems to have developed around major

temples, just like Madurai and Thanjavur in Tamil Nadu."



Which of the following type of reasoning is the student using while making this statement?
Options:

1. Inductive reasoning

2. Deductive reasoning

3. Cause-effect reasoning

4. Reductive reasoning

Question Number : 79 Question Id : 82472410397 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 82472410398 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following questions build 'critical thinking' skills of students on the topic 'daily wage

labourers'?
Options :

1. Where do daily wage workers live in cities?



2. Are the working conditions better in a call centre compared to a factory?
3. Do factory workers have long working hours?

4. Which cities across the world have the highest number of daily wage workers?

Question Number : 80 Question Id : 82472410398 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ﬁmﬁﬁaﬁ#ﬁm&rﬁa@mj%ﬁﬁwm FTEeR e 19T T e 0 T S47e7 THTa
7

Options :

et et v e T €

, ﬂ-:uwugf:iﬁgm-ﬂﬁwﬁw T T I F HI UG g2 2T 29

5 F FIETE T 19 FX T8 AN il A d T9F 7F F1H FHT USaT 27

. %Wﬁ%ﬁmﬁﬁmm%%@qmg%?

Question Number : 81 Question Id : 82472410399 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Mr. D'Souza wants his students to empirically find out that 'price levels cannot be very different in

a competitive market'.

Which of the following would be an appropriate vacation project for this purpose?
Options :
1. Collect from news websites the price of 1 litre of petrol over the years and draw a graph.

2. Group different brands of smartphones based on price and derive which brands are competing

against each other.



3. Go to a weekly vegetable market and ask different vendors the price of cabbage.

4. Go to a weekly shoe market and note down prices of a few types of shoes at each shop.

Question Number : 81 Question Id : 82472410399 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 82472410400 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Read the following statements related to the problems in teaching social science and choose the

correct option.

Assertion (A): Changing nature of interpretation of historical events makes the teaching of social

science a more challenging subject.

Reasoning (R): There is lack of sufficient number of teachers to teach social science.



Choose the correct option.

Options:

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false

4. Both (A) and (R) are false.

Question Number : 82 Question Id : 82472410400 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 82472410401 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

You are showing your students a documentary and after half of it is over, you come across a scene

that paints a particular community in a negative light.



What would be the most responsible way of dealing with this situation?

Options:

1. Ignore the scene and move on with the documentary to avoid wasting time on the unnecessary
point.

2. Tell students that you were not aware of this scene and they should only use their textbook for
learning various topics.

3. Analyse the scene along with students, where they can contest the assumptions and

generalizations made about the community.

4. Continue with the documentary but if there are any students from the community mentioned,

apologise to them for the negative portrayal.

Question Number : 83 Question Id : 82472410401 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 82472410402 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A history teacher wants to teach his students about the different battles that took place during the

reign of Babur.

Which of the following sources would be a 'primary source' for this?

Options :

1. Baburnama or the Memoirs of Babur

2. A museum with a collection of clothing and accessories worn by people in Babur's time
3. Raiders from the North by Alex Rutherford - a book on Mughal Kings

4. The Illustrated Baburnama - By Som Prakash Verma

Question Number : 84 Question Id : 82472410402 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 82472410403 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following topics could be attempted through a field survey by elementary stage

students residing in rural areas as part of project work?
Options :

1. Landforms on the earth

2. Life of Chera, Chola and Pandya kings

3. Temple Architecture

4. Farming Practices

Question Number : 85 Question Id : 82472410403 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 82472410404 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Learning objective: Students will show their understanding of the purposes of Civil Law and

Criminal Law.



Which of the following questions is relevant to achieve this learning objective?
Options:
1. Identify wrong-doings from a newspaper and classify them as civil or criminal law cases along

with reasons.

2. Find data of the last 3 years and estimate whether India has more cases under civil or criminal

law in general.
3. Name the different branches of legal system in India and define them.

4. Draw flow-charts showing the difference in steps to be followed by the affected party under civil

and criminal laws.

Question Number : 86 Question Id : 82472410404 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 82472410405 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following social science questions provides opportunity to develop students' critical

thinking?

A. In what ways are the work of the Panchayat and the work of the village administrative officer /

Patwari related to each other?

B. What in your opinion, is the importance of Gram Sabha? Do you thnk all members should

attend Gram Sabha meetings? Why?

C. What is the difference between Gram Sabha and Gram Panchayat?

Choose the correct option
Options :

1.Aand B

2.Aand C

3.0nly A

4.0nly C

Question Number : 87 Question Id : 82472410405 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 82472410406 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The students of class 6 have been assigned the task of creating a project on conservation of wild

life in India.

Which of the following would be the most effective method for summative evaluation of this
project?

Options:

1. Short test with questions on conservation of wild life

2. Students exchanging and assessing each other's project

3. Reflective questions on why and how of wild life conservation

4. Rubric with a set of criteria related to creating the project

Question Number : 88 Question Id : 82472410406 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 82472410407 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Mr. Harpreet asked his students to research and write a short note on "the most pivotal moment

that led to 1857 rebellion".

He then wanted to use the submitted assignments for "assessment as learning". What would be
the most relevant question for him to ask students?

Options :

1. What was your thought process in deciding the most pivotal moment?

2. What resources did you use to conduct the research for your assignment?

3. Pair up with a friend and argue to each other why the pivotal moment you choose was most
relevant.

4. What was the impact of the 1857 rebellion?

Question Number : 89 Question Id : 82472410407 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ot ST S T 1857 T3TE 1 ST ST 0 AT 35 T R e 5 T 4 (AU ot et
#

ITNFE I 'Hﬁﬁﬂ%%ﬂ T 5 T cnaa %1 ﬁ%ﬁﬂﬁﬂﬁﬁﬁﬁmﬂwwﬁ

Options :

L% = [ - =
1 Ha'@rﬂ‘e:rduy STEAT 99 T 99T AU {99 UTeRaT =4 o0



3 Uﬁﬁﬂ%ﬂfaaﬁpﬁaﬁﬁv%m r&w %rduﬁ Al = yanl '?EE" Hﬁ@ Hmmm w‘e‘?

. 1857 % TaEre o1 a7 T BT o

Question Number : 90 Question Id : 82472410408 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Four students are looking at a map of India with scale of 1 cm =100 Km.
Student 1: Let's draw a large scale map our colony now.
Student 2: Why do you feel we need a large paper to draw our colony? A small one is enough.

Student 3: Large scale does not mean large paper. We need to change the scale. Let's make it 1 cm

=500 Km.

Student 4: No no, since we only need to draw our colony, a centimeter can show much less

distance.

Arrange the four students in increasing order of the conceptual clarity (i.e. from least clear to most

clear)
Options:
1.4<1<2<3
2.2<1<4<3
3.2<3<1<4

4.1<3<2<4

Question Number : 90 Question Id : 82472410408 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Language I
Section Id : 824724294
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30

Enable Mark as Answered Mark for Review and
Yes
Clear Response:



Sub-Section Number : 1
Sub-Section Id : 824724562

Question Shuffling Allowed : Yes

Question Id : 82472410409 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)
Question Label : Comprehension

Read the passage given below and answer the questions/comp lete
the statements that follow by choosing the correct options out of
the given ones.

I married early, and was happy to find in my wife a
disposition not wvery dissimilar to my own temperament.
Observing my partiality for having pets at home, she lost no
opportunity of procuring those of the most agreeable kind. We had
birds, gold-fish, a fine dog, rabbits, a small monkey. and a cat.

This latter was a remarkably large and beautiful animal,
entirely black, observant and thoughtful to an astonishing degree.
In speaking of his intelligence, my wife, who at heart was not a
little superstitions, made frequent allusions to the ancient popular
notion, which regarded all black cats as witches in disguise. Not
that she was ever serious upon this point — and I mention the
matter at all for no reason than that it happens, just now, to be
remembered.

Pluto — this was the cat’s name — was my favourite pet and
playmate. I alone fed him, and he attended me wherever I went
about the house. It was even with difficulty that I could prevent
him from following me through the streets.

Our friendship lasted. in this manner, for many years. during

which my general temperament underwent a change for the worse.
I grew, day by day, more moody., more irritable, more regardless
of the feeling of others. I suffered myself to use foul language to
my wife. At length I offered her violence. My pets, of course, were
made to feel the change in my behaviour. I not only neglected, but
ill-used them. For Pluto, however, I still retained sufficient regard
to ‘restrain’ me from maltreating him. But my disease grew upon
me — for what disease is like Alcohol! And at length even Pluto,
who was now becoming old and somewhat peevish — even Pluto
began to experience the effects of my ill temper.

Sub questions



Question Number : 91 Question Id : 82472410410 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The writer found in his wife a:

rich and beautiful lady.

lady belonging to a noble family.

lady with a similar taste and temperament.
sophisticated and cultured lady.

Lokl e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 82472410411 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

His wife shared his:

love for books.

taste in historical movies.
deep desire for alcohol.
love for small homely pets.

s vl

e

Options:
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 82472410412 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Choose the correct option:

1. Pluto was the writer’s constant companion at home
and outside.

He never ill-treated Pluto.

His wife cared for Pluto more than he.

She was very superstitious.

oWt

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 82472410413 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements.

(a) The writer’s wife believed that black cats are actually
witches.
(b) She procured a black cat for her husband.

1. (a) is right and (b) is wrong.
2. (b) is right and (a) is wrong.
3. Both (a) and (b) are right and (b) follows (a).
Both (a) and (b) are right and (b) does not follows
(a).

e

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 82472410414 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Study the following statements:

(a) ‘Pluto was most devoted to the writer.

(b) Over a period of time a change for the worse came a
bout in the writer’s temperament.

(c¢) Yet, he continued to love his wife.

. (a) is right and (b) is wrong.
. (b) is right and (a) is wrong.
. (c) is right and (b) is wrong.
. (b) is right and (c) is wrong.

Ll bl

I

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 82472410415 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘a disposition not very dissimilar ....”
The underlined word here means the same as:

inclination
disposal
settlement
illness

W -

i

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 82472410416 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘opportunity of procuring those .....°
An antonym of the underlined word is:

approving of
disposing of
ignoring
depending upon

ol o

>

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 82472410417 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘T alone fed him’
The underlined word is a/an

Noun
Pronoun
Adjective
Verb

W -

i

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 82472410418 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘my wife, who at heart was not .....°
The underlined expression is a/an clause.

Principal
Noun
Adjective
Adverb

i e

P

Options :
1.1
2.2
3.3
4.4

Question Id : 82472410409 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Read the passage given below and answer the questions/comp lete
the statements that follow by choosing the correct options out of
the given ones.

I married early, and was happy to find in my wife a
disposition not wvery dissimilar to my own temperament.
Observing my partiality for having pets at home, she lost no
opportunity of procuring those of the most agreeable kind. We had
birds, gold-fish, a fine dog, rabbits, a small monkey. and a cat.

This latter was a remarkably large and beautiful animal,
entirely black, observant and thoughtful to an astonishing degree.
In speaking of his intelligence, my wife, who at heart was not a
little superstitions, made frequent allusions to the ancient popular
notion, which regarded all black cats as witches in disguise. Not
that she was ever serious upon this point — and I mention the
matter at all for no reason than that it happens, just now, to be
remembered.

Pluto — this was the cat’s name — was my favourite pet and
playmate. I alone fed him, and he attended me wherever I went
about the house. It was even with difficulty that I could prevent
him from following me through the streets.

Our friendship lasted. in this manner, for many years. during
which my general temperament underwent a change for the worse.
I grew, day by day, more moody, more irritable, more regardless
of the feeling of others. I suffered myself to use foul language to
my wife. At length I offered her violence. My pets, of course, were
made to feel the change in my behaviour. I not only neglected, but
ill-used them. For Pluto, however, I still retained sufficient regard
to ‘restrain’ me from maltreating him. But my disease grew upon
me — for what disease is like Alcohol! And at length even Pluto,
who was now becoming old and somewhat peevish — even Pluto
began to experience the effects of my ill temper.

Sub questions

Question Number : 91 Question Id : 82472410410 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The writer found in his wife a:

rich and beautiful lady.

lady belonging to a noble family.

lady with a similar taste and temperament.
sophisticated and cultured lady.

W =

o



Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 82472410411 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

His wife shared his:

love for books.

taste in historical movies.
deep desire for alcohol.
love for small homely pets.

e ol vl

s

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 82472410412 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Choose the correct option:

1. Pluto was the writer’s constant companion at home
and outside.

He never ill-treated Pluto.

His wife cared for Pluto more than he.

She was very superstitious.

oWt

Options :
1.1
2.2
3.3



4.4

Question Number : 94 Question Id : 82472410413 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements.

(a) The writer’s wife believed that black cats are actually
witches.
(b)She procured a black cat for her husband.

1. (a) is right and (b) is wrong.
2. (b) is right and (a) is wrong.
3. Both (a) and (b) are right and (b) follows (a).
Both (a) and (b) are right and (b) does not follows
(a).

e

Options:
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 82472410414 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements:

(a) ‘Pluto was most devoted to the writer.

(b) Over a period of time a change for the worse came a
bout in the writer’s temperament.

(c) Yet, he continued to love his wife.

1. (a) is right and (b) is wrong.
2. (b) is right and (a) is wrong.
3. (c) isright and (b) is wrong.
. (b) is right and (c) is wrong.

s

Options :

1.1



2.2
3.3
4.4

Question Number : 96 Question Id : 82472410415 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘a disposition not very dissimilar ....”
The underlined word here means the same as:

inclination
disposal
settlement
illness

W -

i

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 82472410416 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘opportunity of procuring those .....7
An antonym of the underlined word is:

. approving of
2. disposing of
3. lignoring

depending upon

g

Options :
1.1
2.2
3.3
4.4



Question Number : 98 Question Id : 82472410417 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘T alone fed him’
The underlined word is a/an

Noun
Pronoun
Adjective
Verb

i e

P

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 82472410418 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘my wife, who at heart was not .....°
The underlined expression is a/an clause.

Principal
Noun
Adjective
Adverb

i e

P

Options :
1.1
2.2
3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 824724563

Question Shuffling Allowed : Yes



Question Id : 82472410419 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension

Read the stanzas given below and answer the questions/complete the
statement that follow by choosing the correct options out of the given
ones.

The birds around me hopp’d and play’d
Their thought I cannot measure,
But the least motion which they made
It seem’d a thrill of pleasure.

B =

The budding twigs spread out their fan
To catch the breezy air:

And I must think do all I can,

That there was pleasure there.

== IEN I~ N

If this belief from heaven be sent, 9
If such be Nature’s holy plan, 10
Have I not reason to lament 11
What Man has made of Man? 12

Sub questions

Question Number : 100 Question Id : 82472410420 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The poet seems to be sitting:

in a forest.

near a lake.

on the seashore.
in a zoo.

L

e

Options :
1.1
2.2
3.3
4.4



Question Number : 101 Question Id : 82472410421 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

At the moment the poet is:

happy
introspective
sad

curious

e v

s

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 82472410422 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The season of the year in which these events are taking
place is:

Autumn
Rainy
Winter
Spring

o bt

el

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 82472410423 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Study the following statements:
(a) Every object of nature around is enjoying itself.
(b) The poet is concerned about — why Man can’t take
part in this enjoyment.
(c) Man is looking for the happiness in nature.

. (a) is right and (b) is wrong.
. (b) is right and (c) is wrong.
. (c) is right and (a) is wrong.
. (b) is right and (a) is wrong.

L d =

I

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 82472410424 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The figure of speech used in the lines 5-6 is

simile
metaphor
personification
irony

Lot e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 82472410425 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘Have S not reason to lament”
The underline word means the same as:

regret
question
learn
rejoice

W -

P

Options :
1.1
2.2
3.3
4.4

Question Id : 82472410419 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension

Read the stanzas given below and answer the questions/complete the
statement that follow by choosing the correct options out of the given
ones.

The birds around me hopp’d and play’d
Their thought I cannot measure.
But the least motion which they made
It seem’d a thrill of pleasure.

oo =

The budding twigs spread out their fan
To catch the breezy air:

And I must think do all T can,

That there was pleasure there.

(= BN - N

If this belief from heaven be sent, 9
If such be Nature’s holy plan, 10
Have I not reason to lament 11
What Man has made of Man? 12

Sub questions

Question Number : 100 Question Id : 82472410420 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

The poet seems to be sitting:

in a forest.

near a lake.

on the seashore.
in a Zoo.

o bad e

o

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 82472410421 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

At the moment the poet is:

happy
introspective
sad

curious

SR e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 82472410422 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The season of the year in which these events are taking
place is:

Autumn
Rainy
Winter
Spring

ol o

g

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 82472410423 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements:
(a) Every object of nature around is enjoying itself.
(b) The poet is concerned about — why Man can’t take
part in this enjoyment.
(¢) Man is looking for the happiness in nature.

. (a) is right and (b) is wrong.
. (b) is right and (c) is wrong.
. (c) is right and (a) is wrong.
. (b) is right and (a) is wrong.

L [ =

B

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 82472410424 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The figure of speech used in the lines 5-6 is

simile
metaphor
personification
irony

e tel e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 82472410425 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Have 5 not reason to lament”
The underline word means the same as;

regret
question
learn
rejoice

e I

P

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 824724564

Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 82472410426 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is ‘comprehensible input’?

Exposing learners to language slightly above their level.
Exposing learners to language slightly below their level.
Exposing learners to language to their comprehension level.
Providing language exposure to learners to understand.

ol el

e

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 82472410426 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is ‘comprehensible input’?

Exposing learners to language slightly above their level.
Exposing learners to language slightly below their level.
Exposing learners to language to their comprehension level.
Providing language exposure to learners to understand.

g e

o

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 82472410427 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Sheela does the following language related activities. Find which one of them is Basic Interpersonal Communicative
Skills (BICS) and which one of them is Cognitive Academic Language Proficiency (CALP).

a. Conversing with her friends and socializing with her friends in English.

b. Taking notes in her Physics classroom and writing report of the experiments.

I, aisCALPandbisBICS
2. Botheraand b are BICS
3. Bothaandbare CALP
4. aisBICSandbis CALP

Options :

1.1

2.2

3.3

4.4

Question Number : 107 Question Id : 82472410427 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Sheela does the following language related activities. Find which one of them is Basic Interpersonal Communicative
Skills (BICS) and which one of them is Cognitive Academic Language Proficiency (CALP).

a. Conversing with her friends and socializing with her friends in English,

b. Taking notes in her Physics classroom and writing report of the experiments.

I, alsCALPandbisBICS
2. Botheraand b are BICS
3. Bothaandbare CALP
4. aisBICSandbis CALP

Options :

1.1

2.2

3.3

4.4



Question Number : 108 Question Id : 82472410428 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT true of a language?
1. Language is a system of systems.
2.  Language is an arbitrary.
3. Language is a logical system.
4.  Language is meaning focused.
Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 82472410428 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT true of a language?
1. Language is a system of systems.
2.  Language is an arbitrary.
3. Language is a logical system.
4. Language is meaning focused.
Options:
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 82472410429 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Ateacher of class V presented to her learners vocabulary not as individual words, but as unanalyzed chunks like *as far
as possible” ‘wherever possible’ ‘whenever possible’ and so on. What does not method or approach known as?

I, Word chunks
2. Phrasal chunks
3. Lexical approach
4, Communicative approach
Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 82472410429 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ateacher of class V presented to her learners vocabulary not as individual words, but as unanalyzed chunks like *as far
as possible” ‘wherever possible’ ‘whenever possible’ and so on. What does not method or approach known as?

I, Word chunks
2. Phrasal chunks
3. Lexical approach
4, Communicative approach
Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 82472410430 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following are some of the bottom-up listening activities?

1. Listening to whole message and applying the background knowledge to summarize.

2. Dictation, cloze listening, use of multiple choice questions, identifying positive and negative statements.
3. Rearranging the jumbled words into sentences as one listens.

4. Memorization and recitation of poetry, extempore speech, debate discussions, etc.

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 82472410430 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following are some of the bottom-up listening activities?

1. Listening to whole message and applying the background knowledge to summarize.

2. Dictation, cloze listening, use of multiple choice questions, identifying positive and negative statements.
3. Rearranging the jumbled words into sentences as one listens.

4. Memorization and recitation of poetry, extempore speech, debate discussions, etc.

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 82472410431 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A learner recognizes words and clause divisions and retains the input while it is being processed. What types of
listening processes does the learner adopts here?

. Bottom-up strategies

2. Top-down strategies.

3. Both top-down and bottom-up strategies.

4. Neither bottom-up nor top-down strategies

—



Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 82472410431 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A learner recognizes words and clause divisions and retains the input while it is being processed. What types of
listening processes does the learner adopts here?

1. Bottom-up strategies

2. Top-down strategies.

3. Both top-down and bottom-up strategies.

4, Neither bottom-up nor top-down strategies

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 82472410432 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is receptive vocabulary?

Words that we recognize when we hear or see.

Words are mostly spelt wrong. .

Words we know the spelling.

Words used in writing and speaking by a language user.

Pe i e

Options:
1.1
2.2
3.3
4.4



Question Number : 112 Question Id : 82472410432 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
What is receptive vocabulary?

1. Words that we recognize when we hear or see.
2. Words are mostly spelt wrong. .
3. Words we know the spelling.

4. Words used in writing and speaking by a language user.

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 82472410433 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Knowledge about the form, describing and apply it in limited practice is known
Procedural knowledge of grammar

Grammar in context

Declarative knowledge of grammar

Practical knowledge of grammar

e Bt e

i

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 82472410433 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Knowledge about the form, describing and apply it in limited practice is known .

Procedural knowledge of grammar
Grammar in context

Declarative knowledge of grammar
Practical knowledge of grammar

S b

i

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 82472410434 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A novel is

an argumentative writing
a persuasive writing

a comparative writing

a narrative writing

o el

>

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 82472410434 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A novel is

an argumentative writing
a persuasive writing

a comparative writing

a narrative writing

o el

o



Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 82472410435 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

An approach to writing which advocates *learning to write by writing” is known as

Process Approach
Product Approach

. Cognitive Approach

. Constructive Approach

L b

B

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 82472410435 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

An approach to writing which advocates *learning to write by writing” is known as

1. Process Approach

2. Product Approach

3. Cognitive Approach
Constructive Approach

P

Options:
1.1
2.2
3.3
4.4



Question Number : 116 Question Id : 82472410436 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following would you include for assessment of writing?

Grammatical knowledge and use of form.
Content, grammatical control and coherence.
Accuracy of the write-up

Theme, ideas form and handwriting

o el

>

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 82472410436 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following would you include for assessment of writing?

Grammatical knowledge and use of form.
Content, grammatical control and coherence.
Accuracy of the write-up

Theme, ideas form and handwriting

o el

o

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 82472410437 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of following is true of the National Education Policy (NEP) 2020 on language education in schools?

I. Multilingualism both as a policy, resource and strategy.

2. Compulsory study of many languages in school education

3. Promotion of the study of classical languages during the early years
4. English medium from early vears.

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 82472410437 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of following is true of the National Education Policy (NEP) 2020 on language education in schools?

I. Multilingualism both as a policy, resource and strategy.

2. Compulsory study of many languages in school education

3. Promotion of the study of classical languages during the early years
4. English medium from early vears.

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 82472410438 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A reader reads a magazine and is looking for the overall idea of the cover story. What is this reading known as?

1. Scanning

2. Skimming

3. Reading for pleasure
4. Intensive reading



Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 82472410438 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A reader reads a magazine and is looking for the overall idea of the cover story. What is this reading known as?

1. Scanning

2. Skimming

3. Reading for pleasure
4. Intensive reading

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 82472410439 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following activities are part assessment for learning?

1. Project work and assignment

2. Term tests and monthly test

3. Near end examination and practical examination
Field visit and tours

B

Options :
1.1
2.2
3.3



4.4

Question Number : 119 Question Id : 82472410439 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following activities are part assessment for learning?

1. Project work and assignment
2. Term tests and monthly test
3. Near end examination and practical examination

Field visit and tours

>

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 82472410440 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher of class VI found in her classroom there are about seven languages. She uses the languages of learners 1o
teach-learn languages and content subject. What is this strategy known as?

1. Multilingualism
2. Translanguaging
3. Multi language teaching
4. Translation as a method

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 82472410440 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

A teacher of class VI found in her classroom there are about seven languages. She uses the languages of learners 1o
teach-learn languages and content subject. What is this strategy known as?

1. Multilingualism
2. Translanguaging
3. Multi language teaching
4. Translation as a method

Options:
1.1
2.2
3.3
4.4
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Section Id : 824724295
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Section type : Online
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Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30
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Sub-Section Id : 824724565
Question Shuffling Allowed : Yes

Question Id : 82472410441 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No

Question Numbers : (121 to 128)



Question Label : Comprehension
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Sub questions

Question Number : 121 Question Id : 82472410442 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T o AT W S1a7 F THeT (57 FeT ST Fhar 27
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Options :

[

1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 82472410443 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

e

= | o = AR I T &7
1. Tl

T
3. WS
4. T

Options :

I3

1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 82472410444 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1.

e ice
3. UTH-USH
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Options:
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1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 82472410445 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:

I3

1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 82472410446 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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1.1
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4.4

Question Number : 126 Question Id : 82472410447 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3

4.4

Question Number : 127 Question Id : 82472410448 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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4, IEg-d9F

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 82472410449 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3

4.4
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Question Number : 121 Question Id : 82472410442 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 82472410443 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 125 Question Id : 82472410446 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1.1
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Question Number : 126 Question Id : 82472410447 Question Type : MCQ Option Shuffling : No
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Correct Marks : 1 Wrong Marks : 0
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Question Number : 127 Question Id : 82472410448 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 82472410449 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

1.1
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Question Number : 129 Question Id : 82472410451 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 130 Question Id : 82472410452 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Correct Marks : 1 Wrong Marks : 0
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Options :

[
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Question Number : 134 Question Id : 82472410456 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 135 Question Id : 82472410457 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Id : 82472410450 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)

Question Label : Comprehension
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Sub questions

Question Number : 129 Question Id : 82472410451 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 130 Question Id : 82472410452 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

=] =51 USRI 3T &1 7 AT 2| 9 I H -9 979
four 2

e T .
|. H9Y == ol IUag S9TaT 2

TS W T g T SO |iE o 2
3. WHY H o= SIS R Bk H oI &

. .o =, = T 4
4. TY F A 9= SR S A B

Options :

[

1.1
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Question Number : 131 Question Id : 82472410453 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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2. 97
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Options :
1.1
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4.4

Question Number : 132 Question Id : 82472410454 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 82472410455 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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1.1
2.2
3.3
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Question Number : 134 Question Id : 82472410456 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 135 Question Id : 82472410457 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

-9 168 T8 & 19
-+
2. #ATT
3. e
4. =
Options:
1.1
2.2
3.3

4.4
Sub-Section Number : 3
Sub-Section Id : 824724567

Question Shuffling Allowed : Yes

Question Number : 136 Question Id : 82472410458 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 136 Question Id : 82472410458 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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. afS “eThfaee fheat &1 2, SiTenivr HermTeeh & ST S were 2
. IfE itea feer 9 2, Zfeammor wepmres § & Ieon gae 2|
3. I el waA Fur smw A B A E
4. TTe Toremeft =0 foram o7 STiatientor T & qu 37 S W A7 SedT B

Options :
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Question Number : 137 Question Id : 82472410459 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

—
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Question Number : 137 Question Id : 82472410459 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 138 Question Id : 82472410460 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 138 Question Id : 82472410460 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
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Question Number : 139 Question Id : 82472410461 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 139 Question Id : 82472410461 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 140 Question Id : 82472410462 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 140 Question Id : 82472410462 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 141 Question Id : 82472410463 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
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Question Number : 141 Question Id : 82472410463 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
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4.4

Question Number : 142 Question Id : 82472410464 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 142 Question Id : 82472410464 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 143 Question Id : 82472410465 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
frafeAfEs o © S9-91 HEAHIeHh =@ 3 STaid qal ST 27
1. STIeT Fte
2. = u=T
3. FEEE O
Options:
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Question Number : 143 Question Id : 82472410465 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 144 Question Id : 82472410466 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 144 Question Id : 82472410466 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
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Question Number : 145 Question Id : 82472410467 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
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Question Number : 145 Question Id : 82472410467 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
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Question Number : 146 Question Id : 82472410468 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
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Question Number : 146 Question Id : 82472410468 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
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3.3
4.4

Question Number : 147 Question Id : 82472410469 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
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Question Number : 147 Question Id : 82472410469 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 148 Question Id : 82472410470 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 148 Question Id : 82472410470 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 149 Question Id : 82472410471 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 149 Question Id : 82472410471 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 150 Question Id : 82472410472 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 150 Question Id : 82472410472 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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